Quiz 1 -
%é

Show all your work. No credit is given without reasonable supporting Work. There are two
sides to this quiz.

1. Let f be the graph below and to the right.

(a) [1] (WebHW3 #16) Find f(3) ;

5= 43—

(b) [1] (§1.1 #44) What is —ﬁ/ -1 - ‘7 .

the y-intercept? =

| ;.
oc (O

2. [2] (GraphWks #4 & WebHW3 #19) Plot two points that are on the graph of
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3. @ (WebHW1 #7) Add and subtract as indicated P R NS
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4. [3] (FractionWks#2) You have 8 oz of mocha that is 25% espresso sitting in a 16 oz
cup. Write a rational expression in = whose values give the percentage (in decimal
form) og'espresso in the cup when z oz of espresso are added to it.

SIZCRRS E%ﬂh(6%>°'éfi£%%§3§%¥f 7 ol eupesee 0

> | > N
\_A }/ e sy K\_/\,.N__‘»»«" = / \, 4
T eoQuen o M‘mﬁﬁﬁﬁﬁii“”'
"G SO(CR& = i W (7
@Q‘gmﬁ}x@ c& @ SQERED a4 el X Y

\l

A+ % esoesss oF
_—-_——_‘_‘____, Y

=% S ek
\/\/—J

09

\OQY oot AL e 0L @ -
d Lol Nra, prswoel w um\m\:mz ol




